_WARMUP
FM”\ domarn  and V. As . of el

_ x| Bx x*-81=0
') r(x) - xz_ g ] (y’rﬁ)(x—ﬂ (X+44) (x-4) = ©
. - v=-9 x4 4,0)
: . bx-x D=(- 2, -DUCANVA
2) 3()()’ - VAs X=-4,x=9
X ¥ Cx —
_ x(6)
2
. X-Tx+6 sl
3) hi(x) l p- Lo bSO, o)
x-36
V. A X=-%

Sachon 3.4 Conbaved

A horizontal asjmrh-k (H,A,\ o a4 hovizeukl
'\’L\E 5(?"\ AF?(”“W( as X=>1Q ov X—>- 69

YY1
To Lnd He H.A | e Comp A e Aﬂjfv-s of Hee
y\mmuﬂ"’if avd A2nim i natre.
) IF degree of bp < descen of botrom,
ben 470 (o Mo xesxs) S the HA
1) If  deyre of +"? = hswz of bd‘l’ow\)
Hagw 3 = vaho of |£Ao|c'nj wt@'duﬁ vs HA.



3) I“: ()\23(4!. O‘p ','OP 7 hj{u o_p bo-H—ow\’
thon Hae s no HA

|—\omvu, i‘F A,o.jfu oP ‘|‘D‘> = | 4 J.q,mop bo""'om)
Men we have an Ob\‘!fbuﬁﬁ asvwrhk 0N

(g\w\’r as)m‘)Hh)

%'~ FI.I\A HA OF
2) fix):= 3,X4’r7x—5 b) £6) = 2;
&y -13x"+17 X+Tx-6

of — dej of tp = 1 "brd»‘,
deg o fop = 4 %qual by ol -2
O\QS of bot = Y

3 . \4-‘0 is HA.
j:—gf is HN.

T Lok the obligue aspmptrle (04) whidk is
v ‘fm}(f\) %‘;lm' we |0v\j Avv.de He numesator
\;\, e demominale. Then Y = ‘\)Vw"'\.en-" is +he 0.A.

2)(1’5)(4'4 "‘&j of top =2

50’." 4 ()( =
37@3%(714#7‘?# Q( —C ) )(+7 k“l-) 0": b0‘|’ = '
g 3}50 +°Y: | + bet 0o 0.A.
32
30 % 19
a4

x+7 ) 28°- 5x +4

wWer1) —  —(ZE 1K)

-




“lax+d

-19 ()(*(7)-» ;(‘\’\;-'33)
137

S0 Y=2x-19 13 0.A.

Find HD (or 0.A.) of
N £z 3K-Txald 1) Ppoys 5ArT

q

“ht 5 33 tx- |

5kl x -7

3> 7C(x): S—

oMV S$ -

j(zﬂs"’;o , 3":*“" t35\ . /X x5 1t nx-IS
=T KA 2ZE=8 7\ gxlojoxes X%+ Gx +20






